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1) -10x + 4x = ______ 
 

2) -2k + 17 – 4k = ______ 
 

3) 16 – 3(4n+7) = _____ 
 

4) Charlotte age is 15 years more than twice the sum of her 
son’s age (in years) and 3. Find her age by combining like 
terms if her son’s age is represented by x. 

 
 

5) + −
y 3(y 2)
8

 =  _________ 

 

6) 
   

− + − + − −   
   

3 2x 7 (2x 5) x 7
5 5

= _________ 

 
7) The length of a rectangular dining table is 3 ft more than 

twice its width. Find its perimeter in terms of its width. 
Assume that the width of the table is w  ft. 
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8) Find the perimeter of the following rectangle by combining 
like terms. 

 
 

9) The perimeter of a triangle is +23x 2  units and its two 
sides are given in the following figure. Find its third side. 

 
 

10) Find the value of 

( ) ( ) − − + + − + − − +
 

2 23m 4m 7 5m 5m 9 (7m 8)  by combining 

the like terms. 
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1) -6x 

2) -6k + 17 
 

3) -12n – 5 

4) 2x + 21 

5) 
−

25y 6
8

 

6) 
−

11 x 19
5

 

7) +(6w 5) ft 
 

8) 12m + 8 

9) − − +22x x 5 

10) − − −28m 6m 10  
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Solutions: 
 
1. -10x + 4x = ______ 
 
Solution: 
 
-10x+4x = (-10+4)x = -6x 
 
2. -2k + 17 – 4k = ______ 
 
Solution: 
 
-2k + 17 – 4k = (-2k-4k) + 17 = -6k + 17 
 
3. 16 – 3(4n+7) = _____ 
 
Solution: 
 
16 – 3(4n+7) = 16 – 12n – 21 = -12n - 5  
 
4. Charlotte age is 15 years more than twice the sum of her 
son’s age (in years) and 3. Find her age by combining like 
terms if her son’s age is represented by x. 
 
Solution: 
 
Charlotte’s age = 15 + 2 (x+3) = 15 + 2x + 6 = 2x + 21. 
 

5. + −
y 3(y 2)
8

 = _____ 

 
Solution: 
 

+ − = + − = −
y y 25y3(y 2) 3y 6 6
8 8 8
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6. 
   

− + − + − −   
   

3 2x 7 (2x 5) x 7
5 5

 = ______ 

 
Solution: 
 
   

− + − + − −   
   

 
= + − + − − − 
 

= −

3 2x 7 (2x 5) x 7
5 5

3 2x 2x x ( 7 5 7)
5 5

11 x 19
5

 

 
7. The length of a rectangular dining table is 3 ft more than 
twice its width. Find its perimeter in terms of its width. Assume 
that the width of the table is w  ft. 
 
Solution: 
 
The width of the table = w  ft. 
The length of the table, l  = +2w 3  ft. 
The perimeter is, 
+ = + +

= + +

= +

21 2w 2(2w 3) 2w
4w 6 2w
(6w 6)ft

 

 
Thus, the perimeter of the table = +(6w 5) ft. 
 
8. Find the perimeter of the following rectangle by combining 
like terms. 
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Solution: 
 
The length of the rectangle is = +l 4m 5  
The width of the rectangle is = −w 2m 1 
The perimeter is, 

+ = + + −

= +

= +

2(l w) 2(4m 5 2m 1)
2(6m 4)
12m 8

 

 
9. The perimeter of a triangle is +23x 2  units and its two sides 
are given in the following figure. Find its third side. 

 
Solution: 
 
To find the third side, it is sufficient to subtract the sum of the 
two given sides from the perimeter. 
 

( ) ( ) ( )
( ) ( )

 + − + + −
 

= + − + −

= + − − +

= − − +

2 2 2

2 2

2 2

2

3x 2 2x x 3x 3

3x 2 5x x 3

3x 2 5x x 3

2x x 5

 

 
10. Find the value of 

( ) ( ) − − + + − + − − +
 

2 23m 4m 7 5m 5m 9 (7m 8)  by combining the 

like terms. 
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Solution: 

( ) ( )
( )+

 − − + + − + − − +
 

= − − − +

= − − − −

= − − −

+

2 2

2

2

2

3m 4m 7 5m 5m 9 (7m 8)

8m 2 (7m 8)

8m 2 7m 8

8m

m

6m

m

10
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1. The variable(s) parts of like terms
are the same.

2. For example, 3xyz and -4xyz are
like terms.

3. For adding or subtracting two or
more terms, they must be like
terms. For example, we cannot add
(or simplify) 2x + 2 further as 2x
and 2 are NOT like terms.

4. To add or subtract like terms, we
will just add or subtract their
coefficients.
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